SRS EELT—T P F T —7 F T DOEBRTIZDOWNT

A=W ET— 7%, 4 H 16 BIZ 2T &85 - 32

FHECTCAHX—FNL, HiiDOS

IRBUIT AL 674 N, HOAZRIL 6.3%, BifeElEiL 8 BT L 72,

#BENI 10 A 21 B D SEIOBIEZFTEL TRV, /IR TEA TS A 284D Eo

IBINEE4E 38 A&z 7= 790 A CTLT-,

(B N) ke
R5. 10 M R4

= % 7 7 7 AT % H
NE | R | N | AR | R
i RIE S EST] 13| 34.6 26 13| 56.6
N=R:CH FllE 20| 54.3 29 28 | 64.7
ICRAS=NN o RUEE Aty I T 20| 56.4 20 21| 82.1
~ILFH = NNIAT T T 30 72.4 30 27 66. 3
A ZEofibA 25| 62.0 25 22|  56.4
R ity SE e [P 14 67.9 20 19 56. 8
BOR—/L N P S 9| 80.6 9 9| 78.6
CIMNAN KBEHE RRENVT = A 21| 51.0 21 16| 61.1
(=% KEHE NREIV R 59| 50.6 59 52 | 50.4
Ak k- A - FoM | ET1E 25|  62.0 25 30| 82.0
A -7 - MR | A AR 8| 74.1 8 70 75.3
TRER /)N X T.= AFAE 8| 68.8 12 12 76.2
RN FREFFE T 5|0 94.4
FA MR A AR | FnEE ARiE 7| 79.6 7 15| 78.4
B E N UN=R:CH FllE 24| 72.1 28 34| 711
LIl /] ¢ T2 AT HE 17| 81.5 17 13| 85.0
i —/ EN=RiCH H3E 4| 46.4 4 11| 58.2
— g [ T2 AR E 46 |  59.3 46 53| 67.4
EN=RiCH EST] 13| 51.9
ALER /N EN=RiCH N L—R—)L 56|  62.0 56 44 | 67.6
JEEBAREE | Fn= H % DR 1EE 6| 64.6 7 41 76.1
tieash LN=R:CH F=E 8| 79.2 16 16| 53.1
HmAN ENERE Fll5E 7| 63.4 7 24 | 49.2
k=<3 = ARiE 15| 173.3 15 16| 62.0
JIRE/IN (N=R:CH NRI v b 39| 67.4 39 50 | 41.3
/]S TT/—2Ah NIALT T 12| 71.4 21 10| 77.1
PRETESK | 7=RAa—F} VT NT=2A 32 31.3 32 30 49. 3
BT/ KEHE I=ARTy MRV 60| 50.6 95| 103 | 43.3
i (ENEEG HllE 9| 45.8 10 8| 64.9
AETER L — A AT 5| 65.8 15 14| 66.5

B4 N GEfE | PR A 16| 60.0 16
AREWN L IREE NRI b 55| 48.8 70 77| 48.7
g IRERE FllE 2| 50.0 3 41 42.9

el /N EV A 1 = A AR (ks #i~) 2| 84.2 2
B 674 | 59.7| 790| 800 | 58.6

32




